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(17) amḯ>r¶ d Am§Vaamḯ>r¶ Mmcy KS>m‘moS>r
1) OmJ{VH$ amOH$s¶ KQ>Zm -

Am§Vaamï´>r¶ g§~§Y, {eIa n[afXm, {ZdS>UwH$m, g§ajU{df¶H$ KQ>Zm, ‘mZdr h¸$ g‘ñ`m, Am§Vaamï´>r` g§KQ>Zm - UN,

ASEAN, BRICS, European Union, G20, OPEC, SCO, SAARC, NAM

2) amîQ́>r¶$ amOH$s¶ KQ>Zm -
amOH$s` nj, {ZdS>UwH$m, àemgZ, Ý¶m¶mb¶rZ {ZH$mb, Am¶moJ, H$m¶Xo d KQ>ZmXþéñË¶m, Am§XmobZo, amï´>r` / ‘hmamï´>
ñVamdarb g§KQ>ZmË‘H$ d g§ñWmË‘H$ ~m~r

3) OmJ{VH$ Am{W©H$ d {dÎmr¶ KQ>Zm -
OmJ{VH$ ñVamdarb Am{W©H$ KS>m‘moS>r, {dXoer ì¶mnma, OmJ{VH$ ~±H$, IMF, WTO

4) amîQ´>r¶$Am{W©H$ d {dÎmr¶ KQ>Zm -
amï´>r` CËnÞ, {dH$mg H$m ©̀H«$‘, AW©g§H$ën d gmd©O{ZH$ {dÎm, ~±qH$J, H¥$fr d J«m‘rU {dH$mg, Xm[aX²Œ¶ d ~oH$mar, CÚmoJ
Am{U nm¶m ŷV joÌmVrb KQ>Zm

5) V§Ìd¡km{ZH$ KQ>Zm -
D$Om© V§ÌkmZ d AmpÊdH$ àH$ën, Am¶grQ>r, AdH$me{dkmZ

6) d¡km{ZH$ KQ>Zm -
d¡km{ZH$ g§ñWm d g§emoYH , O¡dV§ÌkmZ, amoJ{dkmZ $

7) gm‘m{OH$ d e¡j{UH$ KQ>Zm -
gm‘m{OH$ gwajoMo CnH«$‘ d nwT>mH$ma, gd©g‘mdoeH$Vm, d§{MV O‘mVr Am{U g‘wXm`

8) e¡j{UH$, H$m¡eë¶ {dH$mg d Amamo½¶ joÌmVrb KQ>Zm -
e¡j{UH$ d Amamo½¶ joÌmVrb KQ>Zm, amoOJma {Z{‘©Vr d H$m¡eë¶ {dH$mg

9) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm -
àH$mePmoVmVrb ñWio, gr‘m Am{U g§Kf©, amOYmZr Am{U ‘hÎdmMr ehao, YaUo Am{U àH$ën, amOH$s¶ ŷJmob,
n¶m©daU n[afXm, g§dY©Z, H$m¶Xo, AmnÎmr ì¶dñWmnZ

10) gm§ñH¥${VH$ d n¶©Q>Z KQ>Zm -
g§JrV d Z¥Ë¶, {MÌnQ> Am{U CËgd, ¶mÌm, g§ñWm d ñ‘maHo$

11) gm{hpË¶H$ KQ>Zm -
àH$mePmoVmVrb nwñVHo$ d boIH$, _amR>r gm{hË` g§_ocZ d BVa CnH«$‘

12) Zo‘UwH$m, {Z¶wº$s d àH$mePmoVmVrb ì¶º$s -
Am§Vaamï´>r`/amï´>r`/‘hmamï´> - ZoVo, AÜ`j, n§VàYmZ, ‘wËgÔr

13) nm[aVmo{fH$, nwañH$ma d ~hþ‘mZ -
Am§Vaamï´>r`/amï´>r`/‘hmamï´> - ZmJar nwañH$ma, em¡̀ ©, {MÌnQ>, gm{hË`

14) H«$sS>m{df¶H$ KQ>Zm -
H«$sS>m ñnYm©, IoimSy>§Mr H$m‘{Jar, àH$mePmoVmVrb IoimSy> d à{ejH$, Am°qb{nH$, Am{e`mB© Ioi, A°Wbo{Q>Šg, hm°H$s,
~°S>q‘Q>Z, ~w{Õ~i, {H«$Ho$Q>, ’w$Q>~m°b, Q>o{Zg

15) gm‘mÝ¶kmZ -
‘hÎdmMo {Xdg d df©, gd©àW‘, gdm©V ‘moR>o/N>moQ>o, Eo{Vhm{gH$ KQ>ZmH«$‘
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1) OmJ{VH$ amOH$s¶ KQ>Zm

Am§Vaamḯ>r¶ d àmXo{eH$ g§KQ>Zm
1) Am{’«$H$Z EH$Vm g§KQ>Zm
2) A°noH$ /E{e¶m-n°{g{’$H$ Am{W©H$ ghH$m¶©
3) Am{g¶mZ
4) {~«³g
5) amḯ>Hw$c
6) Am§Vaamï´>r¶ l‘ g§KQ>Zm
7) A{cádmXr Midi
8) AmonoH$
9) gmH©$
10) ¶w{Zgo’$
11) ¶wZmo / g§¶wº$ amḯ>g§K
12) ¶wamo{n¶Z ¶w{Z¶Z

1) Am{’«$H$Z EH$Vm g§KQ>Zm
1) Am{’«$H$Z EH$Vm g§KQ>Zo~m~V (OAU) Imcrcn¡H$s A¶mo½¶ H$WZ {ZdS>m :

1) Am{’«$H$Z EH$Vm g§KQ>ZoMr ñWmnZm ‘o, 1963 ‘Ü¶o Pmcr.
2) Am{’«$H$Z ¶w{Z¶ZMr A{YH¥$VnUo Owc¡, 2002 ‘Ü¶o X~m©Z ¶oWo ñWmnZm H$aÊ¶mV Amcr.
3) Am{’«$H$Z EH$Vm g§KQ>ZoMo n{hco ‘hmg{Md S>mEcmo Q>o„r hmoVo.
4) Am{’«$H$Z EH$Vm g§KQ>ZoMo ‘w»¶mc¶ Am{Xg A~m~m ¶oWo hmoVo.

1) Select the incorrect statement from the following about Organisation of African Unity (OAU) :

1) The Organisation of African Unity was established in May, 1963.

2) The African Union (AU) was officially launched in July, 2002 in Durban.

3) The First Secretary General of OAU was Diaflo Telli.

4) The Headquarter of OAU was located at Addis Ababa.

2) ¶mo½¶ H$WZo AmoiIm.
a) Am{’«$H$Z EH$Vm g§KQ>ZoMr ñWmnZm 25 ‘o, 1963 amoOr Am{Xg A~m~m ¶oWo Pmbr.
b) S>~©Z {eIa n[afX, 2002 ‘Ü¶o Am{’«$H$Z ¶w{Z¶ZMm àma§̂  Pmbm Am{U Am{’«$H$Z ¶w{Z¶ZÀ¶m amï´>à‘wIm§Mr n{hbr

g^m åhUyZ Om{ha H$aÊ¶mV Ambo.
c) Am{W©H$, gm‘m{OH$ d gm§ñH¥${VH$ n[afX Am{U X H$moQ>© Am°’$ OñQ>rg ho Am{’«$H$Z ¶w{Z¶ZMo A§J AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ (a), (b) 2) ’$º$ (b), (c) 3) ’$º$ (a), (c) 4) darb gd©

2) Select the correct statements :

a) The Organisation of African Unity was established on 25 May, 1963 in Addis Ababa.

b) The Durban Summit, 2002 launched the African Union and convened the 1st Assembly of the

heads of the states African Union.

c) The Economic, Social and Cultural Council and the Court of Justice are organs of African

Union.

Answer Options :

1) Only (a), (b) 2) Only (b), (c) 3) Only (a), (c) 4) All of the above
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3) Am{’«$H$s EH$Vm g§JR>ZÀ¶m à‘wI C{Ôï>m§n¡H$s Imbrb H$moUVo EH$ C{Ôï> Zmhr ?
1) Am{’«$H$s Xoem§‘Yrb dgmhVdmX g‘má H$aUo.
2) Am{’«$H$s Xoem§‘Ü¶o Eo³¶ Am{U AI§S>Vobm àmoËgmhZ XoUo.
3) Am{’«$H$Z Xoem§Mr Am{W©H$, ~m¡{ÕH$ Am{U gm‘m{OH$ àJ{V‘Ü¶o gh¶moJ XoUo.
4) ‘Ü¶ Am{’«$H$s g§¶wº$ ~mOma ñWm{nV H$aUo.

3) Which one of the main objectives of 'Organization of African Unity' (OAU) is not amongst the

following?

1) Ending colonialism in African countries.

2) Promotion of unity and integrity in African countries.

3) Contribute to the economic, intellectual and social progress of African countries.

4) Installing Central African combined market.

2) A°noH$ /E{e¶m-n°{g{’$H$ Am{W©H$ ghH$m¶©
1) E{e¶m-n°{g{’$H$ Am{W©H$ ghH$m¶© (APEC) ~m~V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr ?

1) A°noH$Mr g§H$ënZm gd©àW‘ Am°ñQ´>o{b¶mMo n§VàYmZ ~m°~ hm°H$ ¶m§Zr OmhraarË`m ‘m§S>br hmoVr.
2) ghH$mar ~hþnjr¶ Am{W©H$ Am{U ì¶mnma ‘§M åhUyZ A°noH$ H$m¶© H$aVo.
3) Am°ñQ´>o{b¶m, MrZ Am{U a{e¶m hr A°noH$Mr g§ñWmnH$ gXñ¶ AmhoV.
4) A°noH$Mo g{Mdmb¶ qgJmnya ¶oWo Amho.

1) Which one of the following statements regarding ‘Asia Pacific Economic Cooperation’ (APEC)

is not correct ?

1) The idea of APEC was firstly publicly broached by former Prime minister of Australia Bob

Hawke.

2) APEC operates as a cooperative multilateral economic and trade forum.

3) Australia, China and Russia are the founder member of APEC.

4) APEC’s secretariat is in Singapore.

3) Am{g¶mZ
1) Am{g¶mZ (ASEAN) ~m~V nwT>o {Xboë¶m H$WZm§n¡H$s A¶mo½¶ H$WZ AmoiIm.

1) 8 Am°JñQ>, 1967 amoOr ~±H$m°H$, Wm¶b§S> ¶oWo Am{g¶mZMr ñWmnZm Pmbr.
2) ''A°S>ìhm°ZqgJ nmQ>©Za{en ’$m°a gñQ>oZ°{~{bQ>r'' hr Am{g¶mZMr 2021 Mr g§H$ënZ Amho.
3) 2019 Mo Am{g¶mZMo AÜ¶jnX Wm¶b§S>H$S>o hmoVo.
4) Am{g¶mZMo Ü¶o¶ Am{U CÔoe ho X{jU nyd© Am{e¶mB© AÜ¶¶Zmg àmoËgmhZ XoUo Amho.

1) Slect the incorrect statement about ASEAN from the statements given below :

1) ASEAN was established on 8 August 1967 in Bangkok, Thailand.

2) "Advancing Partnership for Sustainability" is the theme of ASEAN for 2021.

3) Thailand was the chair of ASEAN for 2019.

4) To promote South East Asian studies is the aim and purpose of ASEAN.

2) nwT>rcn¡H$s H$moUVm Xoe Am{g¶mZ Mm g§ñWmnH$ gXñ¶ ZìhVm ?
1)  Wm¶c§S> 2) ‘co{e¶m 3) qgJmnya 4) pìhEVZm‘

2) Which of the following countries was not a founder member of ASEAN ?

1) Thailand 2) Malaysia 3) Singapore 4) Vietnam
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4) {~«³g
1) 2023 gmcmgmR>r BRICS Mo AÜ¶jnX H$moUË¶m gXñ¶ XoemH$S>o Amho ?

1)  ~«mPrc 2) a{e¶m 3) ^maV 4) X{jU Am{’«$H$m
1) Who is the chair of the BRICS for the year 2023 ?

1) Brazil 2) Russia 3) India 4) South Africa

5) amḯ>Hw$c
1) amï´>Hw$cmg§~§Yr nwT>rcn¡H$s H$moUVr {dYmZ/Zo gË¶ AmhoV ?

a)$ amï´>Hw$cmMo à‘wI amUr E{cPm~oW I øm AmhoV.
b)$amï´>Hw$c à‘wImgmR>r H$m¶©H$mc H$mcmdYr g§X^m©V ‘¶m©Xm ZmhrV.
c)$amï´>Hw$cmMo ga{MQ>Urg OmñVrV OmñV Mma dfm©À¶m XmoZ H$m¶©H$mcmgmR>r H$m¶©aV amhÿ eH$VmV.
n¶m©¶r CÎmao …
1) (a),(b)$Am{U (c)$ 2) (b)$Am{U (c)$ 3) (a)$Am{U (c)$ 4) (b)$

1) Which of the following statements about Commonwealth is/are true ?

a) Queen Elizabeth I is Head of the Commonwealth.

b) There is no maximqm term for the Head of the Commonwealth.

c) Secretary General of Commonwealth can serve a maximum of two four-year terms.

Answer Options :

l) (a), (b) and (c) 2) (b) and (c) 3) (a) and (c) 4) (b)

2) amï´>Hw$bmg§~§Yr Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr ?
1) amUr pìh³Q>mo[a¶mZo {~«{Q>e gm‘«mÁ¶mMo dU©Z gd©àW‘ 1884 gmbr "amï´>Hw$b amï´>o" Agm Ho$bm.
2) b§S>Z KmofUmnÌmÛmao AmYw{ZH$ amï´>Hw$bmMr {Z{‘©Vr 1949 gmbr Pmbr.
3) amï´>Hw$b Amnë¶m gXñ¶ amï´>mda {Z~ªY bmXÿ eH$V Zmhr.
4) amï´>Hw$bmÛmao 2002 ‘Ü¶o {P§~mãdobm EH$ dfm©gmR>r {Zb§{~V Ho$bo hmoVo.

2) Which one of the following statements about ‘commonwealth’ is NOT correct ?

1) In 1884 the British Empire was first described as the ‘Commonwealth of Nations’ by Queen

Victoria.

2) The modem commonwealth established in 1949 with the London declaration.

3) Commonwealth cannot impose sanctions on member states.

4) In 2002, Zimbabwe was suspended for a year by commonwealth.

6) Am§Vaamḯ>r¶ l‘ g§KQ>Zm
1) Am§Vaamï´>r¶ l‘ g§KQ>ZoMr KQ>Zm ............ À¶m gwédmVrg V¶ma H$aÊ¶mV Amcr.

1) 1947 2) 1916 3) 1919 4) 1938
1) The Constitution of International Labour Organisation was drafted in early

l) 1947 2) 1916 3) 1919 4) 1938
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2) OmoS>çm bmdm - (Am§Vaamï´>r¶ H$m‘Jma g§KQ>Zm) (ILO) …
                   A     B

a) ILO Mr ñWmnZm i) 1969

b) UNO Mo àW‘ {deofrH¥$V A{^H$aU XOm© ii) 1919

c) Ý¶m¶ OmJ{VH$sH$aUmgmR>r gm‘m{OH$ Ý¶m¶mMo KmofUmnÌ iii) 1946

d) Zmo~ob em§VVm nwañH$mamZo gÝ‘mZ iv) 2008

v) 1998

n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (iii) (iv) (i) (v)

3) (iii) (i) (iv) (v)

4) (ii) (iii) (iv) (i)

2) Match the pairs - (international Labour Organization) (ILO) :

                   A     B

a) Establishment of ILO i) 1969

b) Status of first specialized agency of UNO ii) 1919

c) Declaration on Social Justice for fair globalization iii) 1946

d) Honoured with Nobel Peace Prize iv) 2008

v) 1998

Answer Options :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (iii) (iv) (i) (v)

3) (iii) (i) (iv) (v)

4) (ii) (iii) (iv) (i)

3) Am§Vaamï´>r¶ l‘ g§KQ>ZoMr 16 dr Am{e¶mB© n°{g{’$H$ {d^mJr¶ n[afX 2016 ‘Ü¶o ............. ¶oWo ^abr hmoVr.
1) ~mbr, B§S>moZo{e¶m 2) ‘ob~m°Z©, Am°ñQ´>o{b¶m
3) doqb½Q>Z, Ý¶y{Pb±S> 4) Xþ~B©, g§¶wº$ Aa~ A{‘amVr

3) 16th Asia and the Pacific regional meeting of the International Labour Organisation was held in

.................. in 2016.

1) Bali, Indonesia 2) Melbourne, Australia

3) Wellington, New Zealand 4) Dubai, United Arab Emirates

4) Am§Vaamï´>r¶ H$m‘Jma g§KQ>Zo~m~V (ILO) A¶mo½¶ H$WZ AmoiIm …
1) Am¶ Eb Amo À¶m g{Mdmb¶mMo ‘w»¶mb¶ {OZoìhm, pñdQ²>Pab°ÊS> ¶oWo Amho.
2) Am§Vaamï´>r¶ H$m‘Jma n[afXoMr ~¡R>H$ dfm©VyZ EH$Xm hmoVo.
3) Am¶ Eb AmoMr H$m¶©H$marUr n[afX ho {Z¶m‘H$ ‘§S>i Amho, Ë¶mMr ~¡R>H$ dfm©VyZ XmoZdoim hmoVo
4) amoOJma {Z{‘©Vr, gm‘m{OH$ g§dmXmg CÎmoOZ Am{U gm‘m{OH$ gwajo‘Ü¶o dmT> ¶m H$m¶mªZm Am¶ Eb Amo àmoËgmhZ XoVo
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4) Select the incorrect statement about International Labour Organization (ILC) :

1) The ILO’s secretariat has its headquarters in Geneva, Switzerland,

2) The International Labour Conference (ILC) meets once a year.

3) The Governing Body is the executive council of the ILO and meets two times in a year.

4) ILO promoting the works are-creating jobs, promoting social dialogue and extending social

protection.

7) A{cádmXr Midi
1) OmoS>çm cmdm - (A{cádmX MidirMr {eIa g§‘ocZo / n[afX)

(I) (n[afX / {eIa gå‘ocZ) (II) (df©)
a)$~ocJ«oS> n[afX i) 1986
b)${X„r {eIa gå‘ocZ ii) 1970
c)$cwgmH$m n[afX iii) 1961
d)$hamao {eIa gå‘ocZ iv) 1983
n¶m©¶r CÎmao …

(a) (b) (c) (d)$
1) (iii) (iv) (i) (ii)

2) (iii) (i) (ii) (iv)

3) (iii) (ii) (i) (iv)

4) (iii) (iv) (ii) (i)

1) Match the pairs — (Conference/Summit of Non-Alignment Movement)

I (Conference/Summit) II (Year)

a) Belgrade Conference i) 1986

b) Delhi Summit ii) 1970

c) Lusaka Conference iii) 1961

d) Harare Summit iv) 1983

Answer Options :

(a) (b) (c) (d)

1) (iii) (iv) (i) (ii)

2) (iii) (i) (ii) (iv)

3) (iii) (ii) (i) (iv)

4) (iii) (iv) (ii) (i)

2) A{cádmXr MidirÀ¶m (NAM) EHy$U 18 {eIa n[afXm Am¶mo{OV H$aÊ¶mV Amë¶m AmhoV.
a)$ApënVVmdmXr Midi (NAM) Mr 1 cr d 9 dr {eIa n[afX ~ocJ«oS>, ¶wJmooñcmopìh¶m ¶oWo Am¶mo{OV Ho$cr hmoVr.
b)$NAM Mr 7 dr Am{U 15 dr {eIa n[afX hdmZm, ³¶w~m ¶oWo Am¶mo{OV Ho$cr hmoVr.
c)$NAM Mr 18 dr {eIa n[afX ~mHy$ APa~¡OmZ ¶oWo 2019 ‘Ü¶o Am¶mo{OV Ho$cr hmoVr.
darcn¡H$s ¶mo½¶ H$WZ AmoiIm.
1) ’$º$ (a) Am{U (b)$ 2) ’$º$ (b)$Am{U (c)$ 3) ’$º$ (a) Am{U (c)$ 4) darcn¡H$s gd©
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2) The Non-Aligned Movement (NAM) has held a total of 18 Summit Conferences.

a) The 1st Summit and 9th Summit of NAM were held at Belgrade, Yugoslavia.

b) The 7th Summit and 15 Summit of NAM were held at Havana, Cuba.

c) The 18th Summit of NAM was held at Baku, Azerbaijan in 2019.

elect the correct statements from the above.

1) Only (a) and (b) 2) Only (b) and (c) 3) Only (a) and (c) 4) All of the above

3) A{báVmdmXr Midir~ÔbMo Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr?
1) ~m§Sw>J ¶oWrb E{e¶Z-A{’«$H$Z n[afXoZo (1955) A{báVmdmXr MidirÀ¶m ñWmnZoMm H$m¶Xoera AmYma {Xbm.
2) Zm‘À¶m X{jU-X{jU Vm§{ÌH$ ghH$m¶© H|$ÐmÀ¶m ñWmnZoMr H$ënZm ^maV gaH$maZo ‘m§S>br.
3) AëOo[a¶m {eIa n[afX, 1973 ‘Ü¶o Zm‘Zo (NAM) AW©ì¶dñWobm gdm©{YH$ àmYmÝ¶ XoÊ¶mMo R>a{dbo.
4) ~obJ«oS> ¶oWrb n{hë¶m Zm‘ (NAM) {eIa n[afXoV (1961) {dH$gZerb amï´>m§Zr A{báVmdmXr Midi ñWmnZ

H$aÊ¶mg ‘§Owar {Xbr.
3) Which of the following statement is not correct about Non-Alignment Movement (NAM)?

1) The Asian - African Conference of Bandung (1955) provided legal ground for establishment

of Non-Aligned Movement. (NAM)

2) Government of India proposed the idea of establishing the NAM - centre for South - South

Technical Co-operation.

3) During 1973, Algeria Summit NAM put a 'economy' on high place in its priorities.

4) During the first NAM Summit in Belgrad (1961) developing countries agree to establish the

Non-aligned movement.

4) Imbrbn¡H$s H$moU A{bádmXr Midirer g§~§{YV Zmhr ?
1) n§{S>V Odmhabmb Zohê$ 2) ‘me©b Omogo’$ {Q>Q>r
3) AãXþb J‘mb Zmgoa 4) eoI ‘wOr~wa ah‘mZ

4) Which of the following is not a related to Non-allignment. movement ?

1) Pandit Jawahaglal Nehru 2) Marshal Joseph Tito

3) Abdul Gamal Nasser 4) Sheikh Mujibur Rahman

5) ""g§YrnmgyZ A{bá amhÊ¶mMo YmoaU åhUOo A{báVm'' hr ì¶m»¶m H$moUr Ho$br ?
1) n§{S>V Zohê$ 2) Om°O© {bñH$m 3) ídmËP©Z~O©a 4) h°Ýg ‘m°J°ÝWm°

5) Who define that “Non-alignment is a policy of keeping out of alliances” ?

1) Pandit Nehru 2) George Liska 3) Schwarzenberger 4) Hans Morgenthau

6) Imbrbn¡H$s A{báVm Midirer (NAM) H$moU g§~§{YV Zmhr?
1) Odmhabmb Zohê$ 2) Omo{gn ~«m°P {Q>Q>mo 2) H$m°‘o ZH«w$‘m 4) ¶mga Aam’$V

6) Which of the following are not related to Non Aligned Movement (NAM) ?

1) Jawaharlal Nehru 2) Josip Broz Tito 3) Kwame Nkmmah 4) Yasar Arafat
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8) AmonoH$
1) AmonoH$ (OPEC) ~m~VrV Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr?

1) {dgZerb Aem nmM Vob CËnmXH$ Xoem§Zr ~JXmX ¶oWo 1960 gmbr AmonoH$Mr ñWmnZm Ho$br.
2) Vob CËnmXH$m§Zm Ý¶mæ¶ Am{U pñWa ^md {‘iÊ¶mgmR>r g^mgX amï´>m§‘Ü¶o noQ´>mo{b¶‘ YmoaUmg§~§Yr g‘Ýd¶ d EH$Vm

amIUo ho AmonoH$Mo C{Ôï> Amho.
3) AmonoH$Mo ‘w»¶mb¶ n{hbr nmM df} pìhEÞm ¶oWo hmoVo Z§Va Vo 1965 ‘Ü¶o {O{Zìhm ¶oWo hb{dÊ¶mV Ambo.
4) darbn¡H$s EH$hr Zmhr

1) Which one of the following statements about OPEC is not correct?

1) OPEC was established by five oil producing developing countries in Baghdad in 1960.

2) OPEC's objective is to co-ordinate and unify petroleum policies among member countries, in

order to secure fair and stable prices for petroleum producers.

3) OPEC had its headquarters in Vienna during the first five years and then moved to Geneva in

1965.

4) None of the above

2) Imcrcn¡H$s ¶mo½¶ H$WZo AmoiIm.
A) AmonoH$ g{Mdmc¶ ho pìhEÞm ¶oWo Amho, Vo g§KQ>ZoMo ‘w»¶mc¶ åhUyZ gwÕm H$m¶© H$aVo.
~) AmonoH$À¶m g{Mdmc¶mMr ñWmnZm ‘wimV 1961 ‘Ü¶o {O{Zìhm ¶oWo Pmcr.
H$) Am§Vaamï´>r¶ {dH$mgmgmR>r AmonoH$ {ZYrMr ñWmnZm 1978 ‘Ü¶o Pmcr.
n¶m©¶r CÎmao :
1) ’$º$ A, ~ 2) ’$³V ~, H$ 3) ’$º$ A, H$ 4) darcn¡H$s Zmhr

2) Select the correct statements from the following :

A) The OPEC Secretariat is located in Vienna, it also functions as the Headquarter of the

Organization.

B) The Secretariat of OPEC was originally established in 1961 in Geneva.

C) The OPEC Fund for International Development was established in 1978.

Answer options :

1) Only A, B 2) Only B, C 3) Only A, C 4) None of the above

3) AmonoH$ (OPEC) g§KQ>ZoMo .......... ho nmM g§ñWmnH$ gXñ¶ AmhoV.
1) gm¡Xr Aao{~¶m, ìhoZoPwEbm, BamU, BamH$ Am{U Hw$doV
2) gm¡Xr Aao{~¶m, ¶wZm¶Q>oS> Aa~ A{‘amV, H$Vma, {c{~`m Am{U BamU
3) gm¡Xr Aao{~¶m, Zm¶Oo[a¶m, ìhoZoPwEcm, BamH$ Am{U ApëO[a`m
4) gm¡Xr Aao{~¶m, Hw$doV, BamU, A§Jmobm Am{U B¹o$S>moa

3) Five founding members of 'OPEC' are ......

1) Saudi Arabia, Venezuela, Iran, Iraq and Kuwait

2) Saudi Arabia, United Arab Emirates, Qatar, Libiya and Iran

3) Saudi Arabia, Nigeria, Venezuela, Iraq and Algeria

4) Saudi Arabia, Kuwait, Iran, Angola and Ecuador
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4) Imbrbn¡H$s H$moUË¶m Xoem§H$S>o Mmby df© 2022 ‘Ü¶o AmonoH$Mo gXñ¶Ëd Zmhr ?
a) H$Vma b) B§S>moZo{e¶m c) B¹o$S>moa
n¶m©¶r CÎmao …
1) ’$º$ (a), (b) 2) ’$º$ (b), (c)$ 3) ’$º$ (a), (b) 4) darb gd©

4) Which of the following countries does not have membership of OPEC in current year 2022 ?

a) Qatar b) Indonesia c) Ecuador

Answer Options :

1) Only (a), (b) 2), Only (b), (c) 3) Only (a), (b) 4) All of the above

9) gmH©$
1) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?

a) gmH©$Mr ñWmnZm 1984 ‘Ü¶o T>mH$m ¶oVo Pmbr.
b) gmH©$‘Ü¶o AmR> Xoem§Mm g‘mdoe Amho.
c) ‘bo{e¶m gmH©$Mm gXñ¶ Zmhr
d) X{jU Am{e¶mVrb bmoH$m§À¶m OrdZmMm XOm© gwYmaUo ho gmH©$Mo C{Ôï> Amho.
n¶m©¶r CÎmao …
1) (a), (b), (c) 2) (a), (b) 3) (b), (c), (d)$ 4) (a), (d)

1) Which of the following statements are correct ?

a) SAARC was established in 1984 at Dhaka.

b) Eight countries are included in the SAARC.

c) Malaysia is not a member of the SAARC.

d) The objective of the SAARC is to improve the quality of life of the peoples of South Asia.

Answer Options :

1) (a), (b), (c) 2) (a), (b) 3) (b), (c), (d) 4) (a), (d)

2) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr?
1) àmXo{eH$ ghH$m¶m©gmR>r X{jU Am{e¶mB© g§KQ>Zo (SAARC) Mr ñWmnZm 8 {S>g|~a, 1985 amoOr Pmbr.
2) gmH©$À¶m g{Mdmb¶mMr ñWmnZm H$mR>‘m§Sy> ¶oWo 17 OmZodmar, 1986 amoOr Pmbr.
3) gmH©$Mm CÔoe X{jU Am{e¶mVrb bmoH$m§Mo H$ë¶mU H$aUo Am{U Ë¶m§À¶m OrdZmMm XOm© C§MmdUo hm Amho.
4) A‘OX hþgoZ ~r. {g¶mb ho gmH©$Mo dV©‘mZ (OyZ, 2019) ‘hmg{Md AmhoV.

2) Which of the following statement is not correct?

1) The South Asian Association for Regional Cooperation (SAARC) was established on 8

December, 1985.

2) The secretariat of the SAARC was set up in Kathmandu on 17 January 1986.

3) The objectives of SAARC is to provide the welfare of the peoples of Sourth Asia and improve

their quality of life.

4) Amjad Hussain B. Sial is the current (June, 2019) Secretary General of SAARC.
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3) gmH©$~m~V (SAARC) H$m¶ Iao Zmhr ?

1) gmH©$ (SAARC) Mr ñWmnZm {S>g|~a, 1985 ‘Ü¶o Pmbr.
2) gmH©$ (SAARC) Mr {eIa n[afX Xa XmoZ dfm©Zo Am¶mo{OV Ho$br OmVo.
3) gmH©$ (SAARC) À¶m ‘hmg{MdmMm H$m¶©H$mb XmoZ df} Amho.
4) gmH©$ (SAARC) Mr àW‘ {eIa n[afX T>mH$m ¶oWo Am¶mo{OV H$aÊ¶mV Ambr hmoVr.

3) Which is not true about SAARC ?

1) SAARC is established in December, 1985.

2) SAARC Summit is organised in every two years.

3) The tenure of General Secretary of SAARC is 2 years.

4) The first SAARC Summit was held at Dhaka.

4) Imcrcn¡H$s H$moUVm Xoe X{jU Am{e¶mB© ‘wº$ ì¶mnma joÌmMm ( SAFTA) gXñ¶ Zmhr ?
1) ^maV 2) ~m§JcmXoe 3) lrc§H$m 4) å¶mZ‘ma

4) Which of the following countries is not a member of SAFTA (South Asian Free Trade Area) ?

1) India 2) Bangladesh 3) Sri Lanka 4) Myanmar

5) OmoS>çm bmdm - (gmH©$ - SAARC) :
A (àmXo{eH$ H|$Ð)    B (ñWmZ)
a) gmH©$ H¥$fr H|$Ð i) H$mR>‘m§Sy>, Zonmi
b) gmH©$ COm© H|$Ð ii) {X„r, ^maV
c) gmH©$ gm§ñH¥${VH$ H|$Ð iii) H$mob§~mo, lrb§H$m
d) gmH©$ AmnÎmr ì¶dñWmnZ H|$Ð iv) T>mH$m, ~m§½bmXoe

v) Bñbm‘m~mX, nm{H$ñVmZ
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (i) (v) (iii)

2) (iv) (iii) (i) (ii)

3) (v) (iv) (ii) (iii)

4) (iv) (v) (iii) (ii)

5) Match the pairs - (SAARC) :

A (Regional Centre)        B (Place)

a) SAARC Agriculture Centre i) Kathmandu, Nepal

b) SAARC Energy Centre ii) Delhi, India

c) SAARC Cultural Centre iii) Colombo, Srilanka

d) SAARC Disaster Management Centre iv) Dhaka, Bangladesh

v) Islamabad, Pakistan

Answer Options :

(a) (b) (c) (d)

1) (iv) (i) (v) (iii)

2) (iv) (iii) (i) (ii)

3) (v) (iv) (ii) (iii)

4) (iv) (v) (iii) (ii)
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10) ¶w{Zgo’$
1) ¶w{Zgo’$ (UNICEF) ~m~V Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?

1) Ë¶mMo ‘w»¶mb¶ {O{Zìhm, pñdËPbªS> ¶oWo Amho.
2) Ë¶mg 1965 gmbr em§VVoMo Zmo~ob nm[aVmo{fH$ Kmo{fV Pmbo hmoVo.
3) 1996 nmgyZ Ë¶mMo H$m¶©H«$‘ ho ~mb h¸$ n[afX (1989)’ Ûmam ‘mJ©X{e©V Ho$bo OmVmV.
4) ~mb h¸$ n[afXoZo nmbH$m§Ûmao ~mbH$m§Mo emar[aH$ emofU H$aÊ¶mg ‘ZmB© Ho$br Amho.

1) Which one of the following statements in incorrect about 'UNICEF'?

1) It is headquartered in Geneva, Switzerland.

2) It was awarded the Nobel Prize for peace in 1965

3) Since 1996, it's programme have been guided by the 'Convention on the Rights of the Child

(1989)'.

4) The convention on the Rights of the child forbids the physical abuse of children by parents.

11) ¶wZmo / g§¶wº$ amḯ>g§K
1) OmoS>çm Owidm …

g§¶wº$ amḯ>g§KmÀ¶m n[afXm n[afXm§Vrb MM}Mo {df¶
a) [aAmo {X OmZo[aAmo (1992) i) ór¶m§Mo ‘wÔo
b) pìhEÞm (1993) ii) ‘mZd A{YH$ma
c) H¡$amo (1994) iii) n¶m©daU
d) ~rqOJ (1995) iv) bmoH$g§»¶oMm àíZ
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iii) (ii) (iv) (i)

2) (ii) (iii) (iv) (i)

3) (iii) (ii) (i) (iv)

4) (ii) (iii) (i) (iv)

1) Match the following :

UN Conference Issues addressed in it

a) Rio de Janerio (1992) i) Women's issues

b) Vienna (1993) ii) Human rights

c) Cairo (1994) iii) Environment

d) Beijing (1995) iv) Population questions

Answer Options :

(a) (b) (c) (d)

1) (iii) (ii) (iv) (i)

2) (ii) (iii) (iv) (i)

3) (iii) (ii) (i) (iv)

4) (ii) (iii) (i) (iv)
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2) ¶wZmoÀ¶m Am{W©H$ Am{U gm‘m{OH$ n[afXo{df¶r MwH$sMo {dYmZ/Zo emoYm.
a) Ë¶mMo 54 gXñ¶ AmhoV.
b) àË¶oH$ dfu Am‘g^m 18 gXñ¶ VrZ dfm©À¶m H$m¶©H$mbmgmR>r {ZdS>Vo.
c) Ë¶mMo à‘wI A{YdoeZ E{àb ‘{hÝ¶mV hmoVo.
d) ¶m n[afXoMo AÜ¶j EH$m dfm©gmR>r {ZdS>bo OmVmV Am{U bJoMM nwT>À¶m dfu Vo nwZ{Z©dS>UyH$ bT>dy eH$V ZmhrV.
e) n[afXoMo {ZU©¶ àË¶oH$ doir 2/3 ~hþ‘VmZoM KoVbo OmVmV.
n¶m©¶r CÎmao …
1) (a), (b), (c), (d), (e) 2) (b), (c), (d) 3) (c), (d), (e) 4) (d), (e)

2) Find the incorrect statement/s about the UNWs Economic and Social Council :

a) It consists of 54 members.

b) General assembly elects 18 members each year for three year term.

c) Its major session is held in April.

d) The President of it is elected for one year and cannot be re-elected immediately.

e) Decisions of the council are made by 2/3 majority every time.

Answer options :

1) (a),(b),(c),(d),(e) 2) (b),(c),(d) 3) (c),(d),(e) 4) (d), (e)

3) ¶mo½¶ H$mbmZwH«$‘ bmdm - (UNO Mr {Z{‘©Vr)
a) g°Z’«$mpÝgñH$mo n[afX b) ¶mëQ>m n[afX c) VohamZ n[afX d) ‘m°ñH$mo g§‘obZ
n¶m©¶r CÎmao …
1) (b), (c), (d), (a), 2) (d), (c), (b), (a) 3) (c), (d), (b), (a) 4) (a), (c), (b), (d)

3) Arrange in appropriate periodical order - (formation of UNO)

a) Sanfransisco Conference b) Yalta Conference

c) Tehran Conference d) Mascow Summit

Answer options :

1) (b),(c),(d),(a) 2) (d),(c),(b),(a) 3) (c),(d),(b),(a) 4) (a),(c),(b),(d)

4) g§¶wº$ amï´>mMo ‘hmg{Mdm§g§~§Yr nwT>rb H$WZm§‘YyZ ¶mo½¶ H$WZo AmoiIm …
a) ‘hmg{MdmMr {Z¶wº$s ‘hmg ôÀ¶m {e’$magrZo gwajm n[afX H$aVo.
b) ‘hmg{Md nXmMm H$m¶©H$mb nmM df} AgVmo.
c) {Q´>½do br ho g§¶wº$ amï´>mMo n{hbo ‘hmg{Md hmoVo.
d) ‘hmg{Md hm ‘hmg ôbm dm{f©H$ Ahdmb XoÊ¶mgmR>r O~m~Xmar Amho.
n¶m©¶r CÎmao …
1) (a), (b), (c) 2) (b), (c), (d) 3) (a), (c), (d) 4) (a), (b), (d)

4) Select the correct statements related with Secretary General of United Nations.

a) Secretary General is appointed by security council upon the recommendation of General

Assembly.

b) The term of Secretary General is of 5 years.

c) Try gve lie was a first Secretary General of United Nations.

d) Secretary General is responsible for submitting an annual report to General Assembly.

Answer Options :

1) (a), (b), (c) 2) (b), (c), (d) 3) (a), (c), (d) 4) (a), (b), (d)
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5) g§¶wº$ amï´>mÀ¶m gwajm n[afXoÀ¶m {d{dY g{‘Ë¶m ............. AmhoV.
a) AmpÊdH$ D$Om© Am¶moJ b) cîH$ar ñQ>m’$ g{‘Vr c) {deof cîH$ar Am¶moJ d) AmpÊdH$ ñQ>m’$ g{‘Vr

n¶m©¶r CÎmao :

1) ’$º$ (a) Am{U (c) 2) ’$º$ (b) Am{U (d)

3) ’$º$ (c) Am{U (d) ~amo~a 4) ’$º$ (a) Am{U (b)

5) The various committees of Security Council of United Nations are

a) Atomic Energy Commission b) MilitaryStaAComrnittee

c) Special Military Commission d) Atomic Staff Committee

Answer Options :

l) Only (a) and (c) 2) Only (b) and (d) 3) Only (c) and (d) 4) Only (a) and (b)

6) g§¶wº$ amï´>g§KmÀ¶m gXñ¶ËdmÀ¶m g§X^m©V nwT>rcn¡H$s A¶mo½¶ {dYmZ H$moUVo Vo emoYm.
a)$g§¶wº$ amï´>g§KmÀ¶m gZXoer ~m§YrcH$s ‘mÝ¶ H$aÊ¶mg V¶ma AgUmè¶m gd© amï´>m§gmR>r UN Mo gXñ¶Ëd Iwco Amho.
b)$gXñ¶ËdmgmR>r gwajm n[afXoMr {e’$mag Amdí¶H$ Amho.
c)$gXñ¶ËdmgmR>r Am‘g ôV gmÜ¶m ~hþ‘VmZo R>amd nm[aV hmoUo Amdí¶H$ Amho.
n¶m©¶r CÎmao …
1) (a) 2) (b) 3) (c)$ 4) darcn¡H$s H$moUVohr Zmhr

6) Find out the incorrect statement about membership of UN.

a) Membership is open to all nations who ate ready to accept the obligation of the UN Charter.

b) It requires the recommendation of Security Council.

c) It requires simple majority vote by the General Assembly.

Answer Options :

1) (a) 2) (b) 3) (c) 4) None of the above

7) g§¶wº$ amï´>g§KmÀ¶m gwajm n[afXog§~§Yr nwT>rb {dYmZm§n¡H$s ¶mo½¶ {dYmZ H$moUVo Vo gm§Jm?
a) gd AñWm¶r gXñ¶m§Zmhr gwajm n[afXoMo AÜ¶jnX ŷfdÊ¶mMr g§Yr {‘iVo.
b) gwajm n[afXoMo AÜ¶jnX Xa ‘{hÝ¶mbm ñWm¶r gXñ¶m§‘Ü¶o ~XbV AgVo.
c) OJmÀ¶m àXoemZwgma gwajm n[afXoÀ¶m AñWm¶r gXñ¶m§À¶m OmJm dmQ>ë¶m AmhoV, A{’«$H$m-Am{e¶m àm§Vmbm nmM

OmJm XoÊ¶mV Amë¶m AmhoV.
d) gwajm n[afXo‘YyZ H$m¶©‘wº$ hmoUmè¶m Xoembm gXñ¶ËdmgmR>r bJoMM {ZdS>UyH$ bT>dVm ¶oVo.
n¶m©¶r CÎmao …
1) (a), (b), (c) (d) 2) (a), (b), (c) 3) (a), (c) 4) (b), (d)

7) Which of the following statement/s is/are correct about United Nations Security Council

(UNSC)?

a) Each non-permanent member gets the opportunity to work as UNSC president.

b) The presidency of UNSC changes hand every month between its permanent members.

c) The ten non-permanent seats are distributed among the regions of the world, five seats are for

African - Asian countries.

d) A retiring member is eligible for immediate re-election of UNSC.

Answer Options :

1) (a), (b), (c) (d) 2) (a), (b), (c) 3) (a), (c) 4) (b), (d)
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8) 'g§¶wº$ amï´>o ì¶mnma Am{U {dH$mg n[afXo' (UNCTAD) ~m~V Imbrb {dYmZo {dMmamV ¿¶m …
a) g§¶wº$ amï´>g§KmÀ¶m Am‘g ôZo 1964 gmbr ñWmnZ Ho$bobr hr EH$ ñWm¶r Am§Va-emgH$s¶ g§ñWm Amho.
b) {VMo ‘w»¶mb¶ n°[ag, ’«$mÝg ¶oWo Amho.
c) Vr g§¶wº$ amï´>g§KmÀ¶m g{Mdmb¶mMm EH$ ^mJ Amho.
darbn¡H$s H$moUVo {dYmZ/Zo ~amo~n Amho/V?
1) ’$º$ (a) 2) (b) Am{U (c) 3) (a) Am{U (c) 4) darb gd©

8) Consider the following statements about 'United Nations Conference on Trade and Develoment

(UNCTAD)' :

a) It is a permanent inter governmental body established by the UN General Assembly in 1964.

b) It's headquarter is located in Paris, France.

c) It is part of the UN Secretariat.

Which of the statements given above is/are correct?

1) (a) only 2) (b) and (c) 3) (a) and (c) 4) All above

9) g§¶wº$ amï´>o {dH$mg H$m¶©H«$‘ UNDP À¶m H$moUË¶m ‘m{hVr V§ÌkmZmda AmYm[aV CnH«$‘mMr AmIUr eoVH$è¶m§Zm
OmUdUmè¶m ‘m{hVrMr H$‘VaVm ^ê$Z H$mT>Ê¶mgmR>r Ho$br Jobr?
1) emídV {dH$mg ZoQ>d{Hª$J àmoJ«m‘ - SDNP 2) H¥$fr ‘m{hVr Am{U V§ÌkmZ H$m¶©H«$‘
3) MS-CIT Mo Aä¶mgH«$‘ 4) ‘wº$ ì¶mnma àXoe

9) Which Information and Technology (IT) based initiative was designed by the UNDP, the United

Nations Development Programme to help bridge the information gap faced by farmers?

1) Sustainable Development Networking Programme - SDNP

2) Krishi information and Technology IT Programme

3) MS-CIT Courses

4) Free Trade Areas

12) ¶wamo{n¶Z ¶w{Z¶Z
1) ¶wamo{n¶Z ¶w{Z¶Z ~m~V Imcrc {dYmZo cjmV ¿¶m :

a)$1985 ‘Ü¶o eoZOoZ E[a¶mMr {Z{‘©Vr H$aÊ¶mV Amcr. øm E[a¶m‘Ü¶o cmoH$ EH$m XoemnmgyZ Xþgè¶m Xoemn¶ªV ‘wº$nUo
Am{U gwc^nUo àdmg H$ê$ eH$VmV.

b)$¶wamo{n¶Z ¶w{Z¶Z ~mø Xoe AmBgc°ÊS>, Zm°d©o Am{U pñdËP©c°ÊS> ho eoZOoZ E[a¶mMm {hñgm AmhoV.
c)$¶wamonmV em§VVm Am{U EH$Vm gmOar H$aÊ¶mgmR>r Xadfu 9 ‘o amoOr ¶wamon {XZ Am¶mo{OV H$aÊ¶mV ¶oVmo.
d)$¶wamo{n¶Z ¶w{Z¶ZMo Kmofdm³¶ ""{d{dYVo‘Ü¶o EH$Vm"" AgyZ 2019 ‘Ü¶o Ë¶mMm àW‘ Cn¶moJ H$aÊ¶mV Amcm.
darcn¡H$s ¶mo½¶ H$WZo AmoiIm.
1) ’$º$ (a), (b) Am{U (c) 2) ’$º$ (b), (c) Am{U (d)

3) ’$º$ (a), (c) Am{U (d) 4) ’$º$ (a), (b) Am{U (d)
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1) Consider the following statements about European Union :

a) The Schengen Area was made in 1985. In this area people can travel from country to country

freely and easily.

b) Iceland, Norway and Switzerland are the countries outside the European Union and are part of

the Schengen Area.

c) Europe Day held on 9?h May every year celebrates peace and unity in Europe.

d) "United in diversity” the motto of the European Union, first came into use in 2019.

Select the correct statements from the above.

1) Only (a), (b) and (c) 2) Only (b), (c) and (d)

3) Only (a), (c) and (d) 4) Only (a), (b) and (d)

2) "¶wamo{n¶Z pñWaVm ¶§ÌUm" (European Stability Mechanism) hr H$m§hr doim ~mVå¶m§V AgVo. Vr ........... Amho.
1) ‘Ü¶nyd}VyZ Amcoë¶m cjmdYr eaUmWv‘wio {Z‘m©U Pmcoco n[aUm‘ hmVmiÊ¶mgmR>r ¶wamo{n¶Z ¶w{Z¶ZZo {Z‘m©U

Ho$cocr hr EH$ EOÝgr.
2) ¶wamoPmoZ Xoem§Zm Am{W©H$ ghmæ¶ nwa{dUmar ¶wamo{n¶Z ¶w{Z¶ZMr EH$ EOÝgr
3) ì¶mnmamVrc {Ûnjr¶ Am{U ~hþnjr¶ gd© H$ama hmVmiUmar ¶wamo{n¶Z ¶w{Z¶ZMr EH$ EOÝgr
4) gXñ¶ amï´>m§‘Ü¶o {Z‘m©U hmoUmao g§Kf© hmVmiÊ¶mgmR>r ¶wamo{n¶Z ¶w{Z¶ZMr hr EH$ EOÝgr.

2) ‘European Stability Mechanism’ sometimes seen in the news, is an

1) agency created by European Union to deal with the impact of millions of refugees arriving

from Middle East.

2) agency of European Union that provides financial assistance to Eurozone countries.

3) agency of European Union to deal with all the bilateral and multilateral agreements on trade.

4) agency of European Union to deal the conflicts arising among the member countries.

3) ¶wamo{n¶Z g§Km~m~V Imcrcn¡H$s H$moUVo {dYmZ MwH$sMo Amho ?
a) Vmo ¶wamon‘Yrc Xoem§Mm amOH$s¶ Am{U Am{W©H$ g§K Amho.
b) ¶wamo{n¶Z g§KmMo gÎmmdrg gXñ¶ Xoe AmhoV.
c) ¶wamo{n¶Z g§KmMr amOYmZr n°[ag ¶oWo Amho.
n¶m©¶r CÎmao :
1) ’$º$ a 2) ’$º$ b 3) ’$º$ c 4) H$moUVohr Zmhr

3) Which one of the following statements about the European Union is incorrect ?

a) It is a political and economic union of European countries.

b) Twenty seven countries are members of European Union.

c) The capital of European Union is at Paris.

Answer options :

1) Only a 2) Only b 3) Only c 4) None
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4) ¶wamo{n¶Z ¶w{Z¶Z ~m~V Imbrb {dYmZo {dMmamV ¿¶m.
a) Vmo EH$ amOH$s¶ Am{U Am{W©H$ g§K Amho.
b) Ë¶mMr Am¡nMm[aH$ ñWmnZm ‘°pñQ´>e H$amamÛmao Pmbobr Amho.
c) 2007 gmbr Am°pñQ´>¶m Am{U ñdrS>Z ẁamo{n`Z ¶w{Z¶ZMo g^mgX Pmbo.
d) 2012 gmbr ẁamo{n`Z ¶w{Z¶ZZo em§VVoMo Zmo~ob nm[aVmo{fH$ àmá Ho$bo.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
1) (a), (b), (c) 2) (c), (d) 3) (a), (b), (d) 4) darb gd©

4) Consider the following statements about European Union :

a) It is a Political and Economic Union.

b) It was formally established by the Maastricht Treaty.

c) In 2007 Austria and Sweden became the members of European Union.

d) In 2012 the European Union received the Nobel Peace Prize.

Which of the above statements are correct?

1) (a), (b), (c) 2) (c), (d) 3) (a), (b), (d) 4) All above

2) amîQ́>r¶$ amOH$s¶ KQ>Zm
1) Imbrbn¡H$s H$moUË¶m bmoH$g^m {ZdS>UwH$s‘Ü¶o gdm©V OmñV ‘VXmZmMr Q> o̧$dmar hmoVr?

1) 2019 2) 2014 3) 2009 4) 2004
1) Which of the following Lok Sabha elections had the highest voting percentage ?

1) 2019 2) 2014 3) 2009 4) 2004

2) OmoS>çm cmdm
"A' ({ZdS>UyH$ gwYmaUm) "~' (df©)
A) {ZdS>UyH$nyd© ‘V MmMÊ¶m§da à{V~§Y i) 2018
~) Bco³Q´>m°{ZH$ àgma ‘mÜ¶‘m§‘Ü¶o doioMo {dVaU ii) 2009
H$) ‘VXmVm gyMr ‘Ü¶o Am°ZcmB©Z Zm|XUr iii) 2003
S>) {ZdS>UyH$ amo»¶m§Mm àma§̂ iv) 2013
n¶m©¶r CÎmao :

A ~ H$ S>
1) i ii iv iii

2) ii iii iv i

3) ii i iii iv

4) iv iii ii i
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2) Match the pairs.

 ‘A’ (Electoral Reform) ‘B’ (Year)

A) Restriction imposed upon exit polls i) 2018

B) Allocation of time on electronic media ii) 2009

C) Online enrolment in the electoral roll iii) 2003

D) Introduction of electoral bonds iv) 2013

Answer options :

A B C D

1) i ii iv iii

2) ii iii iv i

3) ii i iii iv

4) iv iii ii i

3) ^maVmV Bco³Q´>m°{ZH$ ‘VXmZ ¶§Ìm§Mm àW‘ dmna ............. ‘Ü¶o Ho$ai ‘Yrc gd©gmYmaU {ZdS>UwH$s‘Ü¶o Pmcm.
1) ‘o 1982 2) OyZ 1989 3) gßQ>|~a 1998 4) ’o$~«wdmar 2000

3) In India, the first time use of electronic voting machines occurred in the general elections in

Kerala in

1) May 1982 3) September 1998 2) June 1989 4) February 2000

4) Imbrbn¡H$s ¶mo½¶ H$WZo AmoiIm.
a) n{hë¶m bmoH$g^m {ZdS>UwH$sV H$m±J«og njmZo 489 n¡H$s 364 OmJm qOH$ë¶m hmoË¶m.
b) n{hë¶m bmoH$g^m {ZdS>UwH$sV ^maVr¶ gmå¶dmXr njmZo 16 OmJm qOH$ë¶m hmoË¶m.
c) H$m±J«og njmZo ‘Ðmg d Amo[agm amÁ¶mÀ¶m {ZdS>UwH$sV (1952) ~hþ‘VmZo OmJm qOH$ë¶m hmoË¶m.
n¶m©¶r CÎmao …
1) ’$º$ (a), (c) 2) ’$º$ (b), (c) 3) ’$º$ (a), (b) 4) darbn¡H$s gd©

4) Select the correct statements from the following -

a) Congress Party won 364 of the 489 seats in the 1st Loksabha Election.

b) Communist Party of India won 16 seats in 1% Loksabha Election.

c) Congress Party won a majority seats in state elections (1952) of Madras and Orissa.

Answer Options :

1) Only (a), (c) 2) Only (b), (c) 3) Only (a), (b) 4) All of the above

5) ¶mo½¶ {dYmZ/{dYmZo AmoiIm.
a) 2022 À¶m Jmodm {dYmZg^m {ZdS>UwH$sV ^mOnmbm 20 OmJm {‘imë¶m.
b) Jmodm {dYmZg ôMr EHy$U gXñ¶ g§»¶m 42 Amho.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b)

3) (a) Am{U (b) XmoÝhrhr 4) (a) Am{U (b) XmoÝhrhr Zmhr
5) Select the correct statement/s -

a) BJP got 20 seats in Goa Assembly Election of 2022.

b) The total seats of Goa Legislative Assembly is 42.

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)
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6) ¶mo½¶ {dYmZ/{dYmZo AmoiIm.
a) ñdV§Ì njmMr ñWmnZm Am°JñQ> 1959 ‘Ü¶o Pmbr.
b) ñdV§Ì njmMo ZoV¥Ëd gr. amOJmonmbmMmar, Ho$. E‘. ‘wÝer ¶m§Zr Ho$bo.
c) ñdV§Ì njmZo ghH$mar eoVr d amÁ¶ ì¶mnmamMo g‘W©Z Ho$bo.
n¶m©¶r CÎmao …
1) ’$º$ (a), (b) 2) ’$º$ (b) 3) ’$º$ (a), (c) 4) darb gd©

6) Select the correct statements -

a) Swatantra Party was formed in August 1959.

b) Swatantra Party was led by C. Rajgopalachari, KM. Munshi.

c) Swatantra Party supported the co-operative farming and state trading.

Answer Options :

1) Only (a), (b) 2) Only (b) 3) Only (a), (c) 4) All of the above

7) Imcrcn¡H$s A¶mo½¶ H$WZ AmoiIm.
1) ^maVr¶ d¥ÎmnÌ n[afXoMr àW‘V: ñWmnZm 4 Owc¡ 1966 amoOr Pmcr.
2) ^maVr¶ d¥ÎmnÌ n[afXoMo n{hco AÜ¶j Ý¶m¶‘yVu Oo. Ama. ‘wYmoiH$a hmoVo.
3) n{hcm d¥ÎmnÌ Am¶moJ 1954 ‘Ü¶o ñWmnZ Pmcm
4) d¥ÎmnÌ n[afX A{Y{Z¶‘, 1966 ‘Ü¶o g§‘V Pmcm.

7) Select the incorrect statement from the following.

1) The Press Council of India was first constituted on 4th July 1966.

2) The First Chairman of Press Council of India was Justice J. R. Mudholkar.

3) The First Press Commission was established in 1954.

4) The Press Council Act was enacted in 1966.

8) Imbrb H$WZo bjmV ¿¶m.
a) 2009 ‘Ü¶o bmoH$g^m {ZdS>UyH$ bT>dUmè¶m gd©gmYmaU C‘oXdmam§Zm Úmdr bmJUmar gwajm R>od a¸$‘ é. 10,000/

- dê$Z é. 25,000/- n¶ªV dmT>dÊ¶mV Ambr.
b) 2009 ‘Ü¶o amÁ¶ {dYmZg ôÀ¶m {ZdS>UwH$sgmR>r AZwgy{MV OmVr d AZwgy{MV O‘mVrÀ¶m C‘oXdmam§gmR>r gwajm R>od

a¸$‘ é. 2,500/- dê$Z é. 7,500/- n¶ªV dmT>dÊ¶mV Ambr.
darbn¡H$s H$moUVo H$WZ/Zo A¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) d (b) XmoÝhr 4) ¶mn¡H$s Zmhr

8) Consider the following statements -

a) In 2009, the amount of security deposit to be paid by the candidates contesting elections to the

Loksabha was increased from Rs. 10,000/- to Rs. 25,000/- for the general candidates.

b) In 2009, the security deposit in the case of elections to the state legislative assembly was

increased from Rs. 2,500/- to Rs. 7,500/- for the SC and ST candidates.

Which is/are incorrect statement/s among the above statements ?

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) None of the above



Am¶wº$/A{YH$mar g‘mOH$ë¶mU ImVo narjm / 121

For Private Circulation Only

9) n¶m©daU (g§ajU) H$m¶Xm 1986 Mo àH$aU III ‘Ü¶o g‘m{ï> Agcoco ............. n¶m©daU àXÿfU à{V~§Y, {Z¶§ÌU
Am{U H$‘r H$aÊ¶mer g§~§{YV Amho.
1) H$c‘ 9 Vo 18 2) H$c‘ 8 Vo 16 3) H$c‘ 6 Vo 18 4) H$c‘ 7 Vo 17

9) ______ of the Environment (Protection) Act 1986 contained in Chapter III of the Act relate to

prevention, control and abatement of environmental pollution.

1) Sections 9 to 18 2) Sections 8 to 16 3) Sections 6 to 18 4) Sections 7 to 17

10) 16 ‘mM© 2018 amoOr Imcrcn¡H$s H$moUË¶m ì¶º$s¨Mr {Z¶wº$s ^maVr¶ d¥ÎmnÌ n[afXo‘Ü¶o Pmcr ?
A) S>m°. {dZ¶ ghó~wÕo ~) ñdßZ Xmg Jwám H$) lr‘Vr {‘Zmjr coIr S>) S>m°. ‘mohZ ¶mXd
n¶m©¶r CÎmao :
1) ’$º$ A, ~, H$ 2) ’$º$ ~, H$, S> 3) ’$º$ A, ~, S> 4) darcn¡H$s gd©

10) Which of the following persons were nominated in Press Council of India on 16 March 2018 ?

A) Dr. Vinay Sahastrabuddhe B) Swapna Das Gupta

C) Mrs. Minakshi Lekhi D) Dr. Mohan Yadav

Answer options :

1) Only A, B, C 2) Only B, C, D 3) Only A, B, D 4) All of the above

11) Imbrbn¡H$s H$moUË¶m àmXo{eH$ njm§H$S>o A{Ib ̂ maVr¶ Ñ{ï>H$moZ Amho na§Vw amï´>r¶ {ZdS>UwH$sV AmYmamMm A^md Amho?
a) {h‘mMb {dH$mg H$m±J«og b) Z°eZb bmoH$ Xb
c) Am°b B§{S>¶m ’$m°adS>© ãbm°H$ d) [aìhmoë¶yeZar gmoe°{bñQ> nmQ>u
n¶m©¶r CÎmao …
1) ’$º$ (a), (b), (c) 2) ’$º$ (a), (b), (d) 3) ’$º$ (a), (c), (d) 4) ’$º$ (b), (c), (d)

11) Which of the following regional parties have an All India outlook but lack of national electoral

base ?

a) Himachal Vikas Congress b) National Lok Dal

c) All India Forward Bloc d) Revolutionary Socialist Party

Answer Options :

1) Only (a), (b), (c) 2) Only (a), (b), (d) 3) Only (a), (c), (d) 4) Only (b), (c), (d)

12) ^maVmVrb amOH$s¶ njm§Mm H$mbH«$‘mZwgma (ñWmnZ dfm©da AmYm[aV) H«$‘ bmdm.
a) PmaI§S> ‘wº$s ‘moMm© b) VobJy Xog‘ nmQ>u
c) {eamo‘Ur AH$mbr Xb d) Amgm‘ JU n[afX
n¶m©¶r CÎmao …
1) (a), (c), (b) (d) 2) (c), (d), (b), (a) 3) (a), (b), (c), (d) 4) (c), (a), (b), (d)

12) Arrange the political parties in India (Based on year of foundation)

a) Jharkhand Mukti Morcha b) Telgu Desam Party

c) Shiromani Akali Dal d) Asom Gan Parishad

Answer Options :

1) (a), (c), (b) (d) 2) (c), (d), (b), (a) 3) (a), (b), (c), (d) 4) (c), (a), (b), (d)
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3) OmJ{VH$ Am{W©H$ d {dÎmr¶ KQ>Zm

4) amîQ́>r¶$Am{W©H$ d {dÎmr¶ KQ>Zm

5) V§Ìd¡km{ZH$ KQ>Zm

6) d¡km{ZH$ KQ>Zm

7) gm‘m{OH$ KQ>Zm

8) e¡j{UH$, H$m¡eë¶ {dH$mg d Amamo½¶ joÌmVrb KQ>Zm

1) ñd¶§à^m ({H$emoa ‘§M) S>rQ>rEM-Q>r ìhr M°Zc {df¶r ‘m{hVr nwT>rc à‘mUo :
a) gr ~r Eg B© Ûmao hr gw{dYm {Z‘m©U H$aÊ¶mV Amcr.
b) 32 amï´>r¶ dm{hÝ¶m§Ûmao e¡j{UH$ gm{hË¶m§Mo àgmaU Ho$co OmVo.
c) emim§Mm àemgH$s¶ H$m‘mMm doi dmM{dÊ¶mgmR>r V¶ma H$aÊ¶mV Amco.
darcn¡H$s ñd¶§à^m {df¶r H$moUVo {dYmZ ~amo~a Amho/V?
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) Am{U (b) 4) (b) Am{U (c)

1) The following information about the Swayam Prabha (Kishor Munch) DTH TV channel is as

follows :

a) This facility was createdby CBSE.

b) Literary materials are broadcasted through 32 National Channels.

c) Designed to save the administrative work hours of the schools.

Which of the statements given above is/are correct about Swayam Prabha?

1) Only (a) 2) Only (b) 3) (a) and (b) 4) (b) and (c)

2) OmJ{VH$ Amamo½¶ g§KQ>Zm Imbrbn¡H$s H$moUVo H$m¶© H$aVo?
a) g§gJ©OÝ¶ AmOmam§Mo emór¶ gd}jU
b) Am§Vaamï´>r¶ Amamo½¶ H$m¶ÚmMr {Z{‘©Vr d A§‘b~OmdUr
c) bgrH$aU H$m¶©H«$‘mbm àmYmÝ¶ XoUo.
d) H$sQ>H$ {Z¶§ÌU Am¡fYm§Mo Am{U à¶moJembo¶ V§ÌkmZmMo ‘yë¶m§H$Z H$aUo.
darbn¡H$s H$moUVm n¶m©¶ MwH$sMm Amho/AmhoV?
1) ’$º$ (c) 2) ’$º$ (d) 3) (a), (c) Am{U (d) 4) darbn¡H$s Zmhr

2) Which of the following are the functions of the World Health Organization?

a) A Scientific survey of infectious diseases.

b) Creation and enforcement of International Health Law.

c) To give priority to the vaccination programme.

d) To Assess Pest control, Drugs and Laboratory Techniques.

Which of the option(s) given is/are incorrect?

1) Only (c) 2) Only (d) 3) (a), (c) and (d) 4) None of the above
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3) OmJ{VH$ Amamo½¶ g§KQ>ZoMo à‘wI Ü¶o¶ H$moUVo AmhoV?
a) gXñ¶ amï´>m§À¶m Amamo½¶ godm§Zm ~iH$Q>r XoUo, d¡ÚH$s¶ AÜ¶mnZmÀ¶m ‘mZX§S>mV gwYmaUm H$aUo.
b) nmofU, Ka~m§YUr, H$a‘UyH$, ñdÀN>Vm, Am{W©H$ Am{U H$m‘H$mOmÀ¶m n[apñWVrgmR>r Mm§Jë¶m ‘mZH$m§Zm àmoËgmhZ

XoUo.
c) EH$mpË‘H$ àmW{‘H$ godm§Mm dmna dmT>{dUo.
d) ‘mVm ~mbH$m§Mo Amamo½¶ Am{U H$ë¶mU gwYmaUo.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (a), (b) Am{U (d) 3) (a) Am{U (b) 4) gd© n¶m©¶ ~amo~a AmhoV

3) What are the main Aims of the World Health Organization?

a) Strengthening the health services of member nations, improving the teaching standard in

medicine.

b) Promoting good standard for nutrition, housing, recreation, Hygience, financial and working

conditions.

c) Increasing the use of integrated primary services.

d) Improving Maternal and Child Health and well-being.

Answer Options :

1) (a), (b) and (c) 2) (a), (b) and (d)

3) (a) and (b) 4) All options are correct

4) Imcrcn¡H$s H$moUVo {dYmZ ~amo~a Zmhr ?
1) OmJ{VH$ Amamo½¶ g§KQ>Zm g§¶wº$ amï´> g§KmMr à{V{ZYr g§ñWm åhUyZ H$m¶© H$aVo.
2) OmJ{VH$ Amamo½¶ g§KQ>Zog gXñ¶ amï´>mÀ¶m dJ©UrVyZ d gh¶moJr g§ñWm§À¶m XoUJrVyZ {dÎm nwadR>m hmoVmo.
3) OmJ{VH$ Amamo½¶ g§KQ>ZoMo ‘Ü¶nyd© Am{e¶mVrc ‘w»¶mc¶ ‘w§~B© ¶oWo Amho.
4) 7 E{àc hm {Xdg OmJ{VH$ Amamo½¶ {XZ åhUyZ gmOam Ho$cm OmVo

4) Which of the following statement is not correct?

1) World Health Organization (WHO) works as representative institution of United Nations.

2) The Finance provided by contribution of member nations and donation of associate organization

on in WHO.

3) In middle east Asia's headquarter of WHO is in Mumbai.

4) 7 April is celebrated as world health day.

5) OmJ{VH$ Amamo½¶ g§KQ>ZoZwgma Amamo½¶mMo gm‘m{OH$ KQ>H$ H$moUVo ?
a) qcJ ôX b) gm§S>nmUr gw{dYm
c) n¶m©daU nmofU d) gm‘m{OH$ pñWaVm
n¶m©¶r CÎmao :>
1) (a) Am{U (b) 2) (a),(b),(c) Am{U (d) 3) (b),(c) Am{U (d) 4) (a),(b) Am{U (c)

5) Which are the social component of health according to WHO?

a) Gender discrimination b) Sewage facility

c) Environmental nutrition d) Social stability

Answer Options :

1) (a) and (b) 2) (a), (b), (c) and (d) 3) (b), (c) and (d) 4) (a), (b) and (c)
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6) 1 {S>g|~a 1992 nmgyZ ES>g² {XZ gmOam H$aÊ¶mV ¶oVmo H$maU :
a) ES>g²J«ñV amo½¶m§Zm ‘mZ{gH$ AmYma XoÊ¶mgmR>r
b) Am¡fYmonMmamgmR>r gw{dYm CncãY H$éZ XoÊ¶mH$[aVm
c) ES>g² {Z¶§ÌUmgmR>r ‘mJ©Xe©Z H$aÊ¶mH$[aVm
d) Amamo½¶ d c¢{JH$ {ejU XoÊ¶mH$[aVm hm {Xdg gmOam Ho$cm OmVmo.
darcn¡H$s H$moUVm n¶m©¶ MwH$sMm Amho/AmhoV ?
1) ’$º$ (a) 2) (a) Am{U (c) 3) (b),(c) Am{U (d) 4) darcn¡H$s Zmhr

6) Because AIDS Day is celebrated since 1st December 1992 :

a) To provide mental support to AIDSpatients;

b) To provide drug treatment facility;

c) To guide AIDS control;

d) This day is celebrated for providing health and sex education.

Which of the option(s) given above is/are incorrect?

1) Only (a) 2) (a) and (c) 3) (b), (c) and (d) 4) None of the above

9) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm

1) Imbr {Xboë¶m ^maVr¶ CnI§S>mVrb dmXim§À¶m CËnÎmr dfm©Zwgma ¶mo½¶ OmoS>çm Owidm.
ñV§̂ -I (dmXio) ñV§̂ -II (df©)
a) hþS>hþS> i) 2021

b) {Zb‘ ii) 2014

c) Vm¡ºo$ iii) 2019

d) ’$Zr iv) 2012

n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (iii) (iv) (ii) (i)

3) (ii) (i) (iv) (iii)

4) (ii) (iv) (i) (iii)

1) Match the following Indian sub-continental stroms according to their year of origin.

Column-I (Stroms) Column-II (Years)

a) Hudhud i) 2021

b) Nilam ii) 2014

c) Tauktae iii) 2019

d) Fani iv) 2012

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (iii) (iv) (ii) (i)

3) (ii) (i) (iv) (iii)

4) (ii) (iv) (i) (iii)
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2) n¶m©daU A{YdoeZ/n[afX Am{U df© ¶m§À¶m OmoS>çm bmdm.
n¶m©daU A{YdoeZ/n[afX    df©
a) am‘ga i) 1979

b) pìhEÞm ii) 1971

c) {‘{Z‘mQ>m iii) 1985

d) ~m°Z iv) 2013

n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (ii) (i) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (i) (ii) (iii)

2) Match the environment conventions and year.

Environment conventions Year

a) Ramsar i) 1979

b) Vienna i) 1971

c) Minimata iii) 1985

d) Bonn iv) 2013

Answer Option :

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (ii) (i) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (i) (ii) (iii)

3) ^maV gaH$maÀ¶m ‘Vo Owb¡ 2021 n¶ªVMm XoemVrb ŷH§$nm§Mm B{Vhmg bjmV KoVm ^maVmÀ¶m EHy$U gd©gmYmaU .......
ŷ-^mJmbm (Á¶m‘Ü¶o ^maVmVrb gd© KQ>H$ amÁ¶o Am{U H|$Ðem{gV àXoem§Mm g‘mdoe hmoVmo) doJdoJù¶m Vrd«VoÀ¶m
ŷH§$nm§Mm YmoH$m Amho.

1) 65% 2) 59% 3) 40% 4) 30%
3) According to government of India considering the recorded history of earthquakes in the country

upto July 2021, a total of approximately ................ of the landmass of India (covering all states

and union territories of India) is prone to earthquakes of different intensities.

1) 65% 2) 59% 3) 40% 4) 30%

4) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
a) ³¶moQ>mo g§{hVm EH$ Am§Vaamï´>r¶ H$ama Amho, Á¶mMm CÔoe H$m~©Z S>m`-Am°³gmB©S> Am{U BVa h[aV dm¶y CËgO©Z H$‘r

H$aUo Amho.
b) ^maV ³¶moQ>mo g§{hVobm dMZ~Õ Zmhr.
c) OmJ{VH$ Vmn‘mZ dmT> {Z¶§{ÌV H$aUo ho ³¶moQ>mo g§{hVoMo bj Amho.
n¶m©¶r CÎmao …
1) (a) Am{U (b) ’$º$ 2) (b) Am{U (c) ’$º$ 3) (a) Am{U (c) ’$º$ 4) darb gd©
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4) Which of the following statements are true ?

a) The Kyoto Protocol is an international agreement that aimed to reduce carbon dioxide and

other green house gases emission.

b) India is not committed to Kyoto Protocol.

c) Kyoto Protocol aims to control global warming.

Answer Option :

1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) All of the above

5) Imbrb {dYmZo nhm.
a) ‘hmamï´> àXÿfU {Z¶§ÌU ‘§S>imMr ñWmnZm 7 gßQ>|~a 1970 amoOr Pmbr.
b) ‘mPr dgw§Yam A{^¶mZ ‘hmamï´> àXÿfU {Z¶§ÌU ‘§S>imÛmao Mmbdbo OmVo.
n¶m©¶r CÎmao …
1) {dYmZ (a) ~amo~a Amho 2) {dYmZ (b) ~amo~a Amho
3) {dYmZ (a) Am{U (b) ~amo~a AmhoV 4) {dYmZ (a) Am{U (b) ~amo~a ZmhrV

5) Observe the following statements :

a) Maharashtra Pollution Control Board was established on 7** September, 1970.

b) Majhi Vasundhara Abhiyan is run by Maharashtra Pollution Control Board.

Answer Option :

1) Statement (a) is correct 2) Statement (b) is correct

3) Statement (a) and (b) are correct 4) Statement (a) and (b) are not correct

6) ...... àH$ënm‘Ü¶o ZmJnya ¶oWrb {d‘mZVimbm Am§Vaamï´>r¶ àdmgr d H$mJm}dmhH$ {d‘mZVim‘Ü¶o {dH${gV H$aÊ¶mMm
g‘mdoe Amho.
1) dwhmZ 2) {‘hmZ 3) àm{YH$aU 4) dmhVyH$

6) The ...... project involves developing the airport at Nagpur into an international passenger and

cargo hub airport.

1) Wuhan 2) Mihan 3) Authority 4) Transportation

7) Imbrb {dYmZo nhm.
a) ‘hmamï´> amÁ¶mVrb {d‘mZVim§Mm {dH$mg H$aÊ¶mgmR>r ‘hmamï´> {d‘mZVi H§$nZr (MADC) Mr ñWmnZm 2002 ‘Ü¶o

H$aÊ¶mV Ambr.
b) darb àH$ënm‘Ü¶o SICOM Am{U MSRDC ¶m§Mm gh^mJ Amho.
n¶m©¶r CÎmao …
1) {dYmZ (a) ~amo~a Amho 2) {dYmZ (a) Am{U (b) ~amo~a AmhoV.
3) {dYmZ (a) ~amo~a Zmhr 4) {dYmZ (a) Am{U (b) ~amo~a ZmhrV.

7) Observe the following statements :

a) Maharashtra Airport Development Company (MADC) was established in 2002 to develop

airports in the State of Maharashtra.

b) There is a Participation of SICOM and MSRDC in the above project.

Answer Option :

1) Statement (a) is correct 2) Statement (a) and (b) are correct

3) Statement (a) is not correct 4) Statement (a) and (b) are not correct
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8) ...... ho AmYw{ZH$ gmoB© Agbobo ^maVmVrb ~§Xa gZ 1989 ‘Ü¶o gwê$ H$aÊ¶mV Ambo.
1) ‘w§~B© 2) Odmhabmb Zohê$ 3) qgYwXþJ© 4) XodJS>

8) ...... is a modern port of convenience in India launched in 1989.

1) Mumbai 2) Jawaharlal Nehru 3) Sindhudurg 4) Devgad

9) OmoS>çm bmdm.
a) am¶JS> i) {^b‘m
b) nwa§Xa ii) VmZmOr ‘mbwgao
c) Xm¡bVm~mX iii) gdmB© ‘mYdamd
d) qghJS> iv) {hamoOr B§XÿbH$a
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (iv) (i) (ii)

3) (iv) (iii) (i) (ii)

4) (i) (ii) (iv) (iii)

9) Match the following.

a) Raigad i) Bhilma

b) Purandar ii) Tanaji Malusare

c) Daulatabad iii) Sawai Madhavrao

d) Sinhagad iv) Hiroji Indulkar

Answer Options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (iv) (i) (ii)

3) (iv) (iii) (i) (ii)

4) (i) (ii) (iv) (iii)

10) OmoS>çm Owidm.
             ñV§̂  'A' ñV§̂  'B'

a) ^m^m A°Q>mo{‘H$ [agM© g|Q>a i) H$ën¸$‘
b) [aA°³Q>a [agM© g|Q>a ii) Vmamnya
c) Q>mQ>m BpÝñQ>Q>çyQ> Am°’$ ’§$S>m‘|Q>b [agM© iii) Q́>m°å~o
d) A°Q>mo{‘H$ nm°da ñQ>oeZ iv) ‘§w~B©
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (i) (ii) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (iii) (ii) (i)
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10) Match the following :

                Column - A Column - B

a) Bhabha Atomic Research Centre i) Kalpkam

b) Reactor Research Centre ii) Tarapur

c) Tata Institute of Fundamental Research iii) Trombe

d) Atomic Power Station iv) Mumbai

Answer Options :

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (i) (ii) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (iii) (ii) (i)

10) gm§ñH¥${VH$ d n¶©Q>Z KQ>Zm

11) gm{hpË¶H$ KQ>Zm

12) Zo‘UwH$m, {Z¶wº$s d àH$mePmoVmVrb ì¶º$s
1) H|$Ðr¶ g{Md Am{U Ë¶m§Mm H$m¶©H$mb ¶m§À¶m ¶mo½¶ OmoS>çm Owidm.

H|$Ðr¶ g{MdmMo Zmd  H$m¶©H$mb
a) lr. Q>r. EZ. eofZ i) ‘o 1953 - Owb¡ 1957
b) lr. dm¶. EZ. gwIR>UH$a ii) OyZ 1966 - {S>g|~a 1968
c) lr. Eg. Eg. Ioam iii) ‘mM© 1989 - {S>g|~a 1989
d) lr. S>r. Eg. Omoer iv) E{àb 1962 - Zmoìh|~a 1964
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iv) (i) (iii)

3) (iv) (iii) (ii) (i)

4) (iii) (i) (ii) (iv)

1) Match the cabinet secretaries and their tenure :

Name of the cabinet secretary                 Tenure

a) Shri T. N. Seshan i) May 1953 - July 1957

b) Shri. Y. N. Sukthankar ii) June 1966 - December 1968

c) Shri. S. S. Khera iii) March 1989 - December 1989

d) Shri. D. S. Joshi iv) April 1962 - November 1964

Answer Options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iv) (i) (iii)

3) (iv) (iii) (ii) (i)

4) (iii) (i) (ii) (iv)
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2) [a~oH$m J«rÝg‘°Z ~m~V ¶mo½¶ H$WZo AmoiIm …
a) H$moñQ>m arH$mÀ¶m [a~oH$m J«rÝg‘°Z øm UNCTAD À¶m ‘hmg{Md nX ŷf{dUmè¶m n{hë¶m ‘{hbm AmhoV.
b) Ë¶m H$moñQ>m arH$mÀ¶m ‘mOr CnmÜ¶j AmhoV.
c) Ë¶m ‘mZd {dH$mgmÀ¶m à{gÕ A{Ydº$m AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ (a) d (b) 2) ’$º$ (b) d (c) 3) ’$º$ (a) d (c) 4) darb gd©

2) Select the correct statements about Rebeca Grynspan :

a) Rebeca Grynspan of Costa Rica is the first woman to serve as UNCTAD’s secretary general.

b) She is a former Vice President of Costa Rica.

c) She is a renowned advocate of human development.

Answer Options :

1) Only (a) and (b) 2) Only (b) and (c) 3) Only (a) and (c) 4) All of the above

3) g§¶wº$ amï´>m§À¶m Imcrcn¡H$s H$moUË¶m g{MdmÀ¶m H$mcmdYrV OmJ{VH$ Amamo½¶ g§H$Q> H$m¶©XcmMr ñWmnZm Pmcr ?
1) H$mo’$s AÞmZ 2) ~mZ H$s ‘yZ 3) {ZH$mo h°cr 4) {’$crnmo J«±S>r

3) During whose tenure as Secretary General of United Nations the Global Health Crises Task force

was established :

1) Kofi Annan 2) Ban Ki-Moon 3) Nikki-Haley 4) Filippo Grandi

4) ^maVmVrb ""amï´>r¶ AmnXm à~§YZ àm{YH$aUmMo'' ZoV¥Îd ............ H$aVmV.
1) ^maVmMo J¥h‘§Ìr 2) ^maVmVo g§ajU ‘§Ìr
3) ^maVmMo n§VàYmZ 4) ^maVmÀ¶m gm‘m{OH$ Ý¶m¶ ‘§Ìmb¶mMo H°$~rZoQ> ‘§Ìr

4) "The National Disaster Management Authority" in India is headed by the ..............

1) Home Minister of India 2) Defence Minister of India

3) Prime Minister of India 4) Cabinet Minister, Ministry of Social Justice of India

13) nm[aVmo{fH$, nwañH$ma d ~hþ‘mZ

1) gmd©O{ZH$ VgoM ImOJr joÌmVyZ n¶m©daUmgmR>r C„oIZr¶ H$m¶© H$aUmè¶mg "M°pån`Ýg Am°’$ {X AW©©" hm nwañH$ma
nwT>rcn¡H$s H$moUVr g§ñWm àXmZ H$aVmo ?
1)  B§Q>aZ°eZc ¶w{Z¶Z ’$m°a H$m°ÝPd}eZ Am°’$ ZoMa (IUCN)

2) ’y$S> A°ÊS> A°J«rH$ëMa Am°J©Zm¶OoeZ (FAO)

3) B§Q>aJìhZ©‘|Q>c n°Zc Am°Z ³cm¶‘oQ> M|O (IPCC)

4) ¶wZm¶Q>oS> ZoeÝg EZìhm¶Z©‘|Q>c àmoJ«°‘ (UNEP)

1) Champions of the Earth award, that recognises outstanding environmental leaders from the public

and private sectors was established by which of the following organisations ?

1) International Union for Conservation of Nature (IUCN)

2) Food and Agriculture Organisation (FAO)

3) Intergovernmental Panel on Climate Change (IPCC)

4) United Nations Environmental Programme (UNEP)
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14) H«$sS>m{df¶H$ KQ>Zm

15) gm‘mÝ¶kmZ

1) Imcrcn¡H$s H$moUVo df© g§¶wº$ amï´> g§KmZo OmJ{VH$ cmoH$g§»¶m df© åhUyZ Kmo{fV Ho$co ?
1) 1949 2) 1974 3) 1978 4) 1920

1) Which of the following years was declared by the United Nations as the World Population Year ?

1) 1949 2) 1974 3) 1978 4) 1920

2) g§¶wº$ amï´>g§KmZo ................. ho df© ""~oKam§gmR>r Am§Vaamï´>r¶ Aml¶ df©'' åhUyZ Kmo{fV Ho$bo.
1) 19852) 1987 3) 1988 4) 1989

2) United Nations had declared ............... sear as "International year of shelter for the Homeless".

1) 1985 2) 1987 3) 1988 4) 1989

3) amï´>r¶ {ejU {XZ hm Xadfu ............ amoOr gmOam Ho$bm OmVmo.
1) 3 OmZodmar 2) 5 gßQ>|~a 3) 15 Am°³Q>mo~a 4) 11 Zmoìh|~a

3) The 'National Education Day' is celebrated every year on ......

1) 3rd January 2) 5th September 3) 15th October 4) 11th November
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CÎmao … (17) amḯ>r¶ d Am§Vaamḯ>r¶ Mmcy KS>m‘moS>r

1) OmJ{VH$ amOH$s¶ KQ>Zm

Am§Vaamḯ>r¶ d àmXo{eH$ g§KQ>Zm

1) Am{’«$H$Z EH$Vm g§KQ>Zm
1-3 2-4 3-4

2) A°noH$ /E{e¶m-n°{g{’$H$ Am{W©H$ ghH$m¶©
1-3

3) Am{g¶mZ
1-2 2-4

4) {~«³g
1-4

5) amḯ>Hw$c
1-2 2-1

6) Am§Vaamḯ>r¶ l‘ g§KQ>Zm
1-3 2-4 3-1 4-3

7) A{cádmXr Midi
1-4 2-3 3-2 4-4 5-3 6-4

8) AmonoH$
1-3 2-1 3-1 4-4

9) gmH©$
1-3 2-2 3-2 4-4 5-4

10) ¶w{Zgo’$
1-1

11) ¶wZmo / g§¶wº$ amḯ>g§K
1-1 2-3 3-2 4-2 5-4 6-3 7-3 8-3 9-1

12) ¶wamo{n¶Z ¶w{Z¶Z
1-1 2-2 3-3 4-3
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2) amîQ́>r¶$ amOH$s¶ KQ>Zm
1-1 2-2 3-1 4-3 5-1 6-1 7-4 8-2 9-4 10-1
11-4 12-4

3) OmJ{VH$ Am{W©H$ d {dÎmr¶ KQ>Zm

4) amîQ́>r¶$Am{W©H$ d {dÎmr¶ KQ>Zm

5) V§Ìd¡km{ZH$ KQ>Zm

6) d¡km{ZH$ KQ>Zm

7) gm‘m{OH$ KQ>Zm

8) e¡j{UH$, H$m¡eë¶ {dH$mg d Amamo½¶ joÌmVrb KQ>Zm

1-4 2-4 3-2 4-3 5-2 6-4

9) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm

1-4 2-1 3-2 4-3 5-3 6-2 7-2 8-2 9-3 10-4

10) gm§ñH¥${VH$ d n¶©Q>Z KQ>Zm

11) gm{hpË¶H$ KQ>Zm

12) Zo‘UwH$m, {Z¶wº$s d àH$mePmoVmVrb ì¶º$s
1-1 2-4 3-2 4-3

13) nm[aVmo{fH$, nwañH$ma d ~hþ‘mZ

1-4

14) H«$sS>m{df¶H$ KQ>Zm

15) gm‘mÝ¶kmZ

1-2 2-2 3-4


